7) Find the parametric and symmetric equations of the line through (-1, 2, 5) and (2, 4, 8)
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8) Find the equation of the plane through (4, 6, 2) that is perpendicular to the line
x=2t,y=3+5t,z=6-3t
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9) Determine whether the following lines, L; and L, are parallel, skew, or intersecting. If they
intersect, find the point of intersection.

Ll: x=2+4t, y=-1+t, z=1+3t NOT pPrAZALLEIL <‘/,‘/ 3 K<L-3 "‘/,‘3>
L2: x=-3-3s, y=1-4f z=1-8§
D+vE = -3 -35 3s+4E =5

2 s54+4 €6 =-9
I+t = —qs T as+r = Q

(x-4) -Jbs -4t =-%
s -9t FTY
=-13

10) Find the point at which the line intersects the given plane
x=2+t, y=3-t, z=1+2t theplane x+y+z=35
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